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public class ListOfStrings
ListOfStrings () 6 cund uq/,agl
void insert(int p, String item) P @uf/) e q{/&,)
String delete(int p) P ok Blo pais 3js
String get(int p) P w5 @y pais Ll
String set(int p, String item) P @af/) WD i qf@)/) S8
boolean isEmpty () cund @9 (6w, p
int size() ) ;5 ssns0 polis 5lus ulsu0 %
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public class FixedCapacityListOfStrings
{

private String[] a;
private int N = 0;

public FixedCapacityListOfStrings(int capacity)

{ a = new String[capacity]; }

public int size() { return N; }
public boolean isEmpty () { return size() == 0; }
public void insert(int p, String item) { }
public String delete(int p) { }
public String get(int p) { }

public String set(int p, String item) { }
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public void insert(int p, String item)
{

if (p< 0 || p > N) return;

if ( N == a.length) return;

for (int 1 = N; i > p; i--)

a[i] = a[i - 1];
a[p] = item;
N++;

a[] to  be . --- R (T

0 1 2 3 4 5 6 7 8 9
P N
capacity = 10




public String delete (int p)
{
if (p < 0 || p > N) return null;
String item = a[p];
for (int 1 = p; i < N - 1; i++)
af[i] = a[i + 1];
N--;
return item;

N SR
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P N

null null
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first
Node first = new Node() ; to
. . 11
first.item = “to”; na
£i second
Node second = new Node() ; 1rst g N
to be
second.item = “be”; >
. — | null
first.next = second;
Node third = new Node() ; first\\xse‘mnd third
third.item = “or”; e be or
) —— ——7
second.next = third; null
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Node oldFirst = first;

first = new Node() ;

first.item = “not”;

first.next = oldFirst;

15301 )y a)

first =™

first — ™

oldFirst
B o e
oldFirst
E T
oldFirst
nti—”"—?' %2——""4" ?i——"”"' n:zl

1WGIE — asls Hlalaln - (Sg5) ol s



first = first.next;
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Node oldLast = last;

first —
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last = new Node() ;

first =

last.item = “not”;

oldLast.next = last;

first —

oldlLast
last
\
to be or
| >
— null
oldLast last
to b \
null null
oldLast last
to be
_—7 > or not
L—
— — null
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Node y = new Node() ; X
y.item = “that”; first —> to | be or
_—7
@ y.next = x.next; =] =] null
y /
that /
/
@® x.next = y; .
\
first —>| to be or
—
— ] N null
v ~&
that
/
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Node y = x.next;

=] — null
if (y '= null)

x.next = y.next; first to = not
K\ =] — null
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y = null;

\ first = to be not
wsb 'y a/J/d,ZA =] - null
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for (int i = 0; i < a.length; i++)
{
// process al[i]
}
for (Node x = first; x !'= null; x = x.next)
{
// process x.item
}
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Node x = first;
while (x.next !'= last)
X = xX.next

b4 last
\
first 7/ to be or not
— |_—7
— | — — | null
last = x;
last.next = null;
X last
\
first to be or not
— |_—7
=] — null null

10QIE — (dasly la3abw - (55) Jol suw



ad)b 3y (533033 Cuny) Ay wolic slsad Jo)lass

public int count()
{

int count = 0O;

for (Node x first; x !'= null; x = x.next)
count++;
return count;
}
public int count() first = to _—> be _—> or
{ return count(first); } == — null

private int count (Node x)

{
if (x == null) return O; P
return 1 + count(x.next); < Wl b 20
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public Node copy (Node x)
{
if (x == null) return null;
Node y = new Node() ;
y.item = x.item;
y.next = copy(x.next) ;
return y;
}
x T to be or not
_— L_—7
=] = — null
Y =2 be or not
|_— |_—7
=] =] — null
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null
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first —> 1 3
,/ // 10
null T
x
L2
first — 2
—— 5
null
y
L
first —> 1 2
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null
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public static LinkedList<Integer> merge (LinkedList<Integer> L1, LinkedList<Integer> L2)
{
LinkedList<Integer> L = new LinkedList<Integer>() ;
Node x = Ll.first()
Node y = L2.first() ;
while (x !'= null || y '= null)
{
String item;
if (x == null) item = y.item; y = y.next;
else if (y == null) item = x.item; x = x.next;

else if (y.item < x.item) item = y.item; .next;

<
=<

I
=<

item =

»®
»®
I
»®

P e T )
B T e

else .item; .next;

L.addLast (item) ;
}

return L;
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first
last
to L be or not to be
mull e o | 1 3 > null
rivate class Node . 7
T 9> W
item
private Item item; next
private Node next;
prev

private Node prev;
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Node y New Node () ;

first x
y.item = “or”; ~
to be not
y.next = x.next; > >
y.prev = x; null j< )
Xx.next = y;
if (y.next '= null)
y.next.prev = y; first X Y
\
to be or not
null (e < <
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Node y = x.next;

first x vy
if (y '= null) { ~
to be
x.next = y.next; = | o | not
if (y.next '= null) null i < R
y.next.prev = x;
y = null;
\
to be not
null (e .
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